

THE BOARD OF DIRECTORS

Chair, GAIL REGAN President, Cara Holdings Ltd,

President, PATRICIA ADAMS Secretary/Treasurer, ANNETTA TURNER MAX ALLEN ANDREW ROMAN Producer, IDEAS, CBC Radio Barrister & Solicitor, Miller Thomson ANDREW COYNE ANDREW STARK Columnist, National Post Rotman School of Management, University of Toronto GLENN FOX Resident Expert, PSI Initiative, University of Toronto Professor of Economics, University of Guelph MICHAEL TREBILCOCK President, St. Lawrence Starch Co. CLIFFORD ORWIN Chair, Law & Economics, University of Toronto MARGARET WENTE Professor of Political Science, University of Toronto Columnist, The Globe and Mail

December 2, 2014

BY FAX & BY COURIER

Ms. Kirsten Walli **Board Secretary** Ontario Energy Board 2300 Yonge St, Suite 2701 Toronto ON M4P 1E4

Dear Ms. Walli:

Board File No. EB-2013-0326 Ontario Power Authority Fiscal 2014 Expenditure, Revenue and Fees Submission for Review Energy Probe – Costs Submission (corrected)

IAN GRAY

Pursuant to the Decision and Order, issued November 6, 2014, please find attached the Costs Submission (corrected) of Energy Probe Research Foundation (Energy Probe) in the EB-2013-0326 proceeding for consideration by the Board.

Energy Probe originally filed its Costs Submission on November 13, 2014 but the Ontario Energy Board Cost Claim for Hearings form incorrectly referenced Board File No. EB-2014-0326.

Should you require additional information, please do not hesitate to contact me.

Yours truly,

David S. MacIntosh

Swidt he that

Case Manager

cc. Miriam Heinz, Ontario Power Authority (By email)

Michael Lyle, Ontario Power Authority (By email)

Fred Cass, Aird & Berlis LLP (By email)

Brady Yauch, Consultant to Energy Probe (By email)

Roger Higgin, Consultant to Energy Probe (By email)

Parties of Interest (By email)

Energy Probe Research Foundation 225 BRUNSWICK AVE., TORONTO, ONTARIO M5S 2M6



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Affidavit portion is signed and sworn or affirmed.	
	nstructions
Disbursements Being Claimed") is required for each lawyer, ar However, only one "Summary of Fees and Disbursements" cov - The cost claim must be supported by a completed Affidavit s - A CV for each consultant/analyst must be attached unless pr	cchange rate and country of initial currency. Country: " (comprising a "Statement of Fees Being Claimed" and a "Statement of halyst/consultant and articling student/paralegal. Vering the whole of the party's cost claim should be provided. igned by a representative of the party.
File # EB- 2013-0326	Process: Ontario Power Authority 2014 Fees Review
Party: Energy Probe Research Foundation	Affiant's Name: Annetta Turner
HST Number: 10730 5146 RT0001	HST Rate Ontario: 6.50%
Full Registrant Unregistered Other	Qualifying Non-Profit Tax Exempt
	Affidavit
I, Annetta Turner	, of the City/ Town of Toronto
in the Province/State of Ontario	, swear o r affirm that:
2. I have examined all of the documentation in support of this Being Claimed", "Statement(s) of Fees Being Claimed" and "Statements Being Claimed" and Disbursements Being Claimed" include only costs incurred and Ontario Energy Board process referred to above.	Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of time spent directly for the purposes of the Party's participation in the time spent, by a person that is an employee or officer of the Party as
	ON PROPERTY
Sworn or affirmed before me at the City/Jown of in the Province/State of OWN TRAIN	, on Doe 24, 2014
With the troumed state of	(date)
\sim	

Page 1 of 2



Affidavit and Summary of Fees and Disbursements

File # EB-	2013-0326		Process: _	Ontario Power Authority 2014 Fees Review
Party:	Energy Probe Research F	oundation	_	
	Summa	ry of Fees	and Disbursem	ents Being Claimed
Legal/consu	ıltant/other fees	\$	34,805.00	
Disburseme	ents	\$	1. 7.	
HST		\$	2,262.33	
Total Cost C	Claim	\$	37,067.33	
		Pa	yment Informa	ation
	Make cheque payable to:	Energy	Prohe Resear	ch Foundation
	Make cheque payable to.	Lileigy	riobe iteseai	Citioundation
Sei	nd payment to this address:			
		Toronto	Ontario, Can	ada M5S 2M6
			, 011101110, 00111	



File # EB-	2013-0326		Process:	Ontario Power Authority 2014 Fees Review
Party:	Energy Probe Research Founda	ation	Service Pr	ovider Name: Roger Higgin
			Year Called to	Completed Years Practising/Years of Relevant
	SERVICE PROVIDER TYPE	(check one)	Bar	Experience
	Legal Counsel			34
	Articling Student/Paralegal			
	Consultant	V		Hourly Rate: \$330
	Analyst			<u>:</u>
	For Consultant/Analyst:	CV attac	hed	HST Rate Charged (enter %): 6.5%
	Į.	✓ CV provi	ded within previo	us 24 months

	CV provi	lueu	within previo	us 2	4 1110110115			
St	atement o	of Fe	es Being	Clai	imed			
	Hours	Но	urly Rate	Subtotal			HST	Total
Pre-hearing Conference								
Preparation		\$	330.00	\$	(#.	\$:#8	\$ 160
Attendance		\$	330.00	\$	₹	\$	- Ex	\$ Ħ
Technical Conference								
Preparation		\$	330.00	\$	120	\$	2 9	\$ 5 = 0
Attendance		\$	330.00	\$	360	\$:#0	\$ (**
Interrogatories								
Preparation	10.00	\$	330.00	\$	3,300.00	\$	214.50	\$ 3,514.50
Responses	2.00	\$	330.00	\$	660.00	\$	42.90	\$ 702.90
Issues Conference								
Preparation		\$	330.00	\$	(1)	\$:=(-	\$ (#
Attendance		\$	330.00	\$	27.3	\$:50	\$ 16
ADR - Settlement Conference								
Preparation	4.00	\$	330.00	\$	1,320.00	\$	85.80	\$ 1,405.80
Attendance	24.00	\$	330.00	\$	7,920.00	\$	514.80	\$ 8,434.80
Proposal Preparation	2.00	\$	330.00	\$	660.00	\$	42.90	\$ 702.90
Argument								
Preparation	12.00	\$	330.00	\$	3,960.00	\$	257.40	\$ 4,217.40
Oral Hearing								
Preparation	8.00	\$	330.00	\$	2,640.00	\$	171.60	\$ 2,811.60
Attendance	9.50	\$	330.00	\$	3,135.00	\$	203.78	\$ 3,338.78
Other Conferences								
Preparation		\$	330.00	\$	3	\$.	\$ 7 4 5
Attendance		\$	330.00	\$	181	\$	12 0	\$ 1.86
Case Management		\$	170.00	\$:=:	\$	a €	\$ •
TOTAL SERVICE PROVIDER FEES				\$	23,595.00	\$	1,533.68	\$ 25,128.68



File # EB-	2013-0326	Process: Ontario	Ontario Power Authority 2014 Fees Review				
Party:	Energy Probe Research Found	Service Provider Name:	Roger Higgin				

Statement of Disbursements Being Claimed							
	Net Cost	HST	To	otal			
Scanning/Photocopy			\$	2#			
Printing			\$	<			
Courier			\$				
Telephone/Fax			\$				
Transcripts			\$	-			
Travel: Air			\$	≈			
Travel: Car			\$:*			
Travel: Rail			\$	2			
Travel (Other):			\$	i.e			
Parking			\$	·			
Тахі			\$	~			
Accommodation			\$: ·			
Meals			\$	-			
Other:			\$	5.5			
Other:			\$	<u> </u>			
Other:			\$	74			
TOTAL DISBURSEMENTS:	- \$	\$ -	Ś				



Date

SPA Inc

15 Malabar Place Don Mills, Toronto, Ontario M3B 1A4 (416) 391-0738 fax (416) 391-0738

INVOICE -

Name Energy Probe Research Foundation
Address 225 Brunswick Avenue
City Toronto Province Ont P.C. M5S 2M6
Attn. Mr. David MacIntosh

Date 09/11/2014
Project No EB-2014-0326
Title OPA 2014 Fees

Hours	Date	Description Of Services	Unit Price	TOTAL
4.00	Jun 16 2014	Review Prefiled Evidence and Orepare Case Notes	\$330.00	\$1,320.00
6.00	Jun 17 2014	Preparation Draft IRs by Issue	\$330.00	\$1,980.00
8.00	Jul 8/9 2014	Attend Settlement Conference +prep	\$330.00	\$2,640.00
1.00	Jul 20 2014	Preparation Review Motion and provide notes	\$330.00	\$330.00
1.00	Jul 29 2014	Preparation Review Updated IRRs per OEB Directn	\$330.00	\$330.00
6.00	Jul 31 2014	Attend Settlement Conference +prep	\$330.00	\$1,980.00
4.00	Aug 4 2014	Attend Settlement Discussions	\$330.00	\$1,320.00
2.00	Aug 8 2014	Preparation Review Settlement Proposal	\$330.00	\$660.00
4.00	Sep 1-4 2014	Preparation Intervenor E mails and discussions	\$330.00	\$1,320.00
6.00	Sep 5 2014	Attend Reconvened Settlement Conference	\$330.00	\$1,980.00
8.00	Sep 17 2014	Preparation Prepare for Hearing	\$330.00	\$2,640.00
5.50	Sep 18 2014	Attend Hearing	\$330.00	\$1,815.00
10.00	Sep 27 2014	Preparation First draft of Oral Argument	\$330.00	\$3,300.00
2.00	Oct 1 2014	Preparation Final Draft of Oral Argument	\$330.00	\$660.00
4.00	Oct 7 2014	Attend Hearing Present Oral Argument	\$330.00	\$1,320.00
71.50)			\$23,595.00
		Taxes	HST	\$3,067.35
			PST	
/	→ Payment D	Details Cheque	TOTAL	\$26,662.35

HST NUMBER 88413 6714 RT0001



File # EB-	2013-0326		Process: _	Ontario Po	ower Authority 2014	Fees Review
Party:	Energy Probe Research Found	lation	Service Pro	ovider Name:	Brady Yauch	
			Year Called to		Completed Year Practising/Years of Re	
	SERVICE PROVIDER TYPE	(check one)	Bar		Experience	
	Legal Counsel				4	
	Articling Student/Paralegal		,			
	Consultant	~			Hourly Rate: \$	170
	Analyst					
	For Consultant/Analyst:	CV attac	ched	HST Rate Cl	harged (enter %): 6	.5%
		✓ CV prov	ided within previou	s 24 months		· ·

		ded	within previo	us 2	4 months				
St	tatement o	f Fe	ees Being	Clai	med				
	Hours		urly Rate	_	Subtotal	HST		Total	
Pre-hearing Conference									
Preparation		\$	170.00	\$	7/23	\$	120	\$	(26)
Attendance		\$	170.00	\$	9≝9	\$	t a s	\$	
Technical Conference									
Preparation		\$	170.00	\$.; e :	\$		\$	5
Attendance		\$	170.00	\$	/.52	\$.7.	\$	<u>#</u>
Interrogatories									
Preparation	8.50	\$	170.00	\$	1,445.00	\$	93.93	\$	1,538.93
Responses	4.25	\$	170.00	\$	722.50	\$	46.96	\$	769.46
Issues Conference									
Preparation		\$	170.00	\$	5.	\$	151	\$	<u> </u>
Attendance		\$	170.00	\$		\$	- 4	\$	2
ADR - Settlement Conference									
Preparation	1.50	\$	170.00	\$	255.00	\$	16.58	\$	271.58
Attendance		\$	170.00	\$	*	\$: - :	\$	-
Proposal Preparation	3.50	\$	170.00	\$	595.00	\$	38.68	\$	633.68
Argument									
Preparation	2.25	\$	170.00	\$	382.50	\$	24.86	\$	407.36
Oral Hearing									
Preparation	7.50	\$	170.00	\$	1,275.00	\$	82.88	\$	1,357.88
Attendance	11.00	\$	170.00	\$	1,870.00	\$	121.55	\$	1,991.55
Other Conferences									
Preparation		\$	170.00	\$	<u> </u>	\$	1/2	\$	¥
Attendance		\$	170.00	\$	#	\$	84	\$	·
Case Management		\$	170.00	\$		\$	-	\$	
TOTAL SERVICE PROVIDER FEES				\$	6,545.00	\$	425.43	\$	6,970.43



File # EB-	2013-0326	Process: Ontario	Power Authority 2014 Fees Review		
Party:	Energy Probe Research Found	Service Provider Name:	Brady Yauch		
	Statement o	f Disbursements Being Claim	ed		

	Net Cost	HST	To	otal
Scanning/Photocopy			\$	-
Printing			\$	-
Courier			\$	**
Telephone/Fax			\$	÷
Transcripts			\$:=
Travel: Air			\$	
Travel: Car			\$	-
Travel: Rail			\$	12
Travel (Other):			\$	<u>;</u>
Parking			\$:
Тахі			\$	
Accommodation			\$	
Meals			\$	1
Other:			\$	12
Other:			\$)
Other:			\$	ş=
TOTAL DISBURSEMENTS:	\$	\$ -	\$	-

Brady Yauch

67A Auburn Avenue Toronto ON M6H 2L8 GST/HST 802822023 RT0001

Bill To:

Mr. David MacIntosh Energy Probe Research Foundation 225 Brunswick Avenue Toronto, Ontario, M5S 2M6

For:

Intervenor services for Ontario Power Authority's 2014 Revenue Requirement Submission, EB-2013-0326.

DATE: 11/13/14

Date	DESCRIPTION	Time
June 14, 2014	Reviewed the Ontario Power Authority's 2014 Revenue Requirement Submission. Took notes and drafted initial questions for interrogatories	3.25 Hours
June15, 2014	June15, 2014 Reviewed the Ontario Power Authority's 2014 Revenue Requirement Submission. Took notes and drafted initial questions for interrogatories	
June 16, 2014	Reviewed the Ontario Power Authority's 2014 Revenue Requirement Submission. Took notes and drafted initial questions for interrogatories	2.5 hours
July 7, 2014	Reviewed answers to interrogatories on Ontario Power Authority's 2014 Revenue Requirement Submission and prepared for settlement.	4.25hours
July 8,2014	Attended settlement conference.	0 hours
July 9, 2014	Attended settlement conference.	0 hours
July 9, 2014	Discussed with other consultants (David MacIntosh and Roger Higgins) on how to proceed with settlement.	1.25 hours
July 16, 2014	Reviewed Board's Decision on Motion and took notes on next step going forward.	0.5 hours
July 30, 2014	Reviewed OPA's responses to Motion	1.75 hours
July 30, 2014	Prepared notes for settlement conference to be held on July 31, 2014.	1.5 hours
July 31, 2014	Attended settlement conference with the OPA and participated in discussions. Took notes.	0 hours
August 6, 2014	Reviewed settlement from OPA and took notes.	0.5 hours
August 20, 2014	Attended Board hearing.	1.5 hours
September 4, 2014	Preparation and notes for OPA settlement to be held on September 5, 2014	1.25 hour
September 5, 2014	Attended settlement conference with the OPA.	0 hours
September 14	Prepared for oral hearing, taking notes and reviewing application for the oral hearing on September 18, 2014	2.25 hours
September 15	Prepared for oral hearing, taking notes and reviewing application for the oral hearing on September 18, 2014	2.75 hours
September 18	Attended oral hearing at the Ontario Energy Board	4 hours
October 6, 2014	Preparation for final argument to be held on October 7, 2014	2.5 hours

October 7, 2014	Met with other consultant Roger Higgins to discuss argument Final Argument to be made to Board Panel	0.5 hours
October 7, 2014	Attended final argument at the Ontario Energy Board and took notes	5.5 hours
Total hours		38.5 hours



File # EB-	2013-0326		Process:	Ontario Po	wer Authority 2014 Fees Rev	view
Party:	Energy Probe Research Found	lation	Service Pro	ovider Name:	David MacIntosh	
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar		Completed Years Practising/Years of Relevant Experience	
	Legal Counsel				14	
	Articling Student/Paralegal		**************************************	:=		50 -
	Consultant	✓			Hourly Rate: \$290	
	Analyst					24 60
	For Consultant/Analyst:	CV attac	ched	HST Rate Cha	arged (enter %): 6.5%	
		✓ CV prov	ided within previou	s 24 months	·	

CV provided within previous 24 months								
Statement of Fees Being Claimed								
	Hours	Но	urly Rate	9	Subtotal		HST	Total
Pre-hearing Conference			ļ					
Preparation		\$	290.00	\$		\$		\$ *
Attendance		\$	290.00	\$	-	\$		\$ 22
Technical Conference								
Preparation		\$	290.00	\$)#:	\$	•	\$ 2₩3
Attendance		\$	290.00	\$	(₩(\$	(#)	\$ 8#8
Interrogatories								
Preparation	3.25	\$	290.00	\$	942.50	\$	61.26	\$ 1,003.76
Responses	3.00	\$	290.00	\$	870.00	\$	56.55	\$ 926.55
Issues Conference								
Preparation	0.50	\$	290.00	\$	145.00	\$	9.43	\$ 154.43
Attendance		\$	290.00	\$	()	\$	i.= 1	\$ (1 5 5
ADR - Settlement Conference								
Preparation		\$	290.00	\$	(**	\$	=	\$ 200
Attendance		\$	290.00	\$	~	\$	(¥)	\$ 9 18 1
Proposal Preparation	2.00	\$	290.00	\$	580.00	\$	37.70	\$ 617.70
Argument								
Preparation	3.00	\$	290.00	\$	870.00	\$	56.55	\$ 926.55
Oral Hearing								
Preparation	1.25	\$	290.00	\$	362.50	\$	23.56	\$ 386.06
Attendance	2.50	\$	290.00	\$	725.00	\$	47.13	\$ 772.13
Other Conferences								
Preparation		\$	290.00	\$		\$. 	\$
Attendance		\$	290.00	\$	美	\$		\$ 달
Case Management	1.00	\$	170.00	\$	170.00	\$	11.05	\$ 181.05
TOTAL SERVICE PROVIDER FEES				\$	4,665.00	\$	303.23	\$ 4,968.23



File # EB-	2013-0326	Process: Onto	ario Power Authority 2014 Fees Review
Party:	Energy Probe Research Foun	Service Provider Name	: David MacIntosh

	Statement of Disbursements Being Claimed Net Cost HST Total					
	Net Cost	1131				
Scanning/Photocopy			\$	18		
Printing			\$	7 -		
Courier			\$	180		
Telephone/Fax			\$			
Transcripts			\$			
Travel: Air			\$	-		
Travel: Car			\$	2		
Travel: Rail			\$	=		
Travel (Other):			\$	-		
Parking			\$	-		
Тахі			\$			
Accommodation			\$	2		
Meals			\$	-		
Other:			\$	×		
Other:			\$			
Other:			\$	7		
				111600		
TOTAL DISBURSEMENTS:	\$	\$	\$			

Time Sheet for D. MacIntosh

Board File: EB-2013-0326 Ontario Power Authority 2014 Fees Review

Summary:	Hours
Preparation	13.00
Attend. Tech.	0.00
Attend. ADR	0.00
Attend. Hearing	2.50
Argument Prep.	0.00
Case Mngt. (CM)	1.00
Total	16.50

Date	Hours	Note
04 May 44	4.00	Desline in any Design of Desfiled Evidence 9 ODA Averal Design
04-May-14	1.00	Preliminary Review of Prefiled Evidence & OPA Annual Report
04-May-14	0.50	Draft Notice of Intervention
17-May-14	0.50	Draft Submission re Draft Issues List and Oral Hearing
17-Jun-14	0.75	Draft Interrogatories
18-Jun-14	1.00	Draft Interrogatories
06-Jul-14	1.50	Review Evidence and Interrogatory Responses
09-Jul - 14	1.25	Discuss With Consultants Higgin & Yauch Settlement Strategy
20-Jul-14	1.25	Prepare for Motions Day
30-Jul-14	1.50	Review Updated Evidence and Interrogatory Responses
08-Aug-14	0.75	Review Settlement Proposal
17-Sep-14	0.75	Review Cross Examination Materials
04-Oct-14	0.50	Review Oral Argument Notes
05-Oct-14	1.00	Review Oral Argument Notes & Comment
07-Nov-14	0.75	Review Decision and Order
Total	13.00	Preparation

Date	Hours	Note
22-Jul-14	2.50	Attend Motions Day
Total	2.50	Attendance - Hearing

Date	Hours	Note
04-May-14	0.50	CM - File Notice of Intervention
17-May-14	0.25	CM - File Submission re Draft Issues List and Oral Hearing
18-Jun-14	0.25	CM - Check & File Interrogatories to Applicant
Total	1.00	Case Management